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1101 | ECON2022 01 [%3*FFF Y * 1 75 30 4.48 —
1101 | ECONT902 PN IR 3 z 1 31 6 4.83 —
1101 | ECONT932 R x’tiw = i 1 28 3 5.00 —
1092 | ECON3049 FTHRAMFTRBITL Y z 1 5 3 5.00 —
1092 | ECON4003 02 |M%4&p * 1 43 16 4.73 -
1092 | ECONT925 BT EEBIFRY % 1 13 3 4. 67 —
1091 | ECON2022 01 | %5 FRY f 1 118 |69 4. 38 e
1091 | ECONT961 Bt BB A 2 z 1 16 4 4. 67 —
1091 | ECONT932 ot n“’ﬁ'%hiﬁ'—_;éai = 1 20 5 4.80 S
1082 | ECON4003 02 E L 3 1 42 24 4.82 —
1082 | ECON5029 PA 3% g A % 1 29 18 4.81 —
1081 | ECON2022 01 [A+HFFEFY z 1 92 55 4.52 —
1081 | ECONT953 % &b e R R * 1 24 8 5.00 —
1081 | ECONT932 i "E’x*u LRI z 1 23 I 4.98 —
1072 | ECON4003 02 |H*% %5 = 1 45 22 4.74 i
1072 | ECONT925 FHEFT D FER TR * 1 10 2 4.92 i
1072 | ECON5029 PAix g g z 1 21 13 4.62 —
1071 | ECON2014 01 |Mz3 e B oy FEay f 1 150 |45 4.58 i
1071 | ECONT933 AN BB = i 1 18 8 4.71 —
1071 | ECONT932 i i’%‘u‘#‘ L= % 1 18 8 4.75 —
1071 | ECONT926 R 2 1 14 6 4.70 —
1062 | ECON1005 03 |eAEREER YT 3 1 102 |38 4.33 -
1062 | ECONT925 FHET 2T E R z 1 4 3 4. 61 —
1061 | ECON2014 01 |A3-Fa B oRmFFERY L 3 1 137 |74 4.29 -
1061 | ECONT7961 Bt B A8 2 2 + 1 23 10 4.62 —
1061 | ECONT932 iR %%E?ﬁ‘wi z 1 27 12 4.70 —
1052 | ECON1005 03 |eAmFhEaqy— = 1 104 |39 4.34 i
1052 | ECONT953 ZEBELSTE i 1 10 3 4.33 —
1052 | ECON5139 B i § gy z 1 23 I 5.00 —
1051 | ECON2014 01 |se38e P amB TRy + f 1 73 29 4.45 i
1051 | ECONT961 Bt SR AR 2 z 1 26 b) 3. 97 —
1051 | ECONT933 AR R E AR R = £ 2 28 6 4.29 4.00
1051 | ECONT932 iR %#IP’—_%E = 1 26 5 4.23 —
1042 | ECON4003 01 EE 3 1 37 19 4.94 —
1042 | ECON8009 R EAIT S - £ 2 8 3 4. 67 4.39
1042 | ECONT925 FHEFT A BT z 1 3 1 5.00 —
1041 | ECON2014 01 |srget g amg Ty vy i 1 91 51 4.39 —
1041 | ECONT932 iR #%E?ﬁ‘qi f 1 26 14 4. 66 —
1041 | ECONT926 B ENE z 1 13 6 4.64 —
1032 | ECONT925 AT EEBITE A * 1 1 3 5.00 —
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1032 | Fin2006 R S % 1 99 66 4.47 —
1031 | ECON2014 01 [ BaFeRmE TRy z 1 63 58 4.71 —
1031 | ECONT933 ERFHEEIFR = z 1 27 4 4.70 i
1031 | ECONT932 e ff*uiiﬁl_%‘ui i 1 Al 4 4.73 —
1031 | ECONT926 B EAE z 1 24 p) 4.75 —
1022 | ECONT925 i L ARl X i 1 19 3 4. 67 —
1022 | Fin2006 AR 3 f 1 67 53 4. 56 i
1021 | ECON2012 01 TRAP R AT TERY - * 1 54 50 4.64 —
1021 | ECONT932 e %#E’:;@:i z 1 26 4 4.64 —
1021 | ECONT926 B RNV z 1 21 4 4.64 —
1012 | ECON3035 AN B 3 1 8 3 4.00 —
1012 | ECONT085 VARG F - * 1 10 I 4.44 —
1012 | ECONT953 RZEREHHTE * 1 12 0 0 —
1012 | ECON8007 CHREFT 2 z 1 12 8 4.30 —
1011 | ECON2005 01 [s3-geagy - = 1 70 62 4.31 i
1011 | ECONT925 TR ERBITLY * 1 13 0 i
1011 | ECONT932 T TL LI = * 1 24 0 0 -
1011 | ECON5098 BHE R 2 2 3 2 4.42 4.04
1002 | ECON3035 G AR R f 1 25 18 4.44 i
1002 | ECONT953 REERIEAETE 2 1 8 0 0 e
1002 | ECONT143 et R £ 2 13 5 4. 60 4.39
1001 | ECON2005 01 |%3+5dqy - 3 1 44 39 4.73 —
1001 | ECONT012 G ARSI - £ 2 47 22 4.52 4.44
1001 | ECONT961 Je* R At E 2 i 1 10 1 5.00 —
1001 | ECONT932 i bt’x"u Bz % 1 28 2 5.00 —
0992 | ECON2008 FEaM ARy * 1 1 4 4. 66 i
0992 | ECON4003 03 |H*% %5 = 1 21 14 4. 65 i
0992 | ECONT986 W2 F g & pIRIrE & AT z 1 3 0 0 —
0992 | ECONT7953 REERIAETE i 1 2 1 5.00 —
0992 | ECON8007 AR Y Sl N % 1 9 3 4.64 —
0991 | ECON2005 01 |s-gergy iy - + 1 100 194 4.62 —
0991 | ECONT7012 LS AT - £ 2 47 22 4.25 4.12
0991 | ECONT961 o BAA AT E S 2 * 1 25 1 3.45 S
0991 | ECONT7932 T8 b"xhi 2 = 3 1 27 0 0 —
0982 | ECON4003 03 iR 3 1 34 23 4. 26 —
0982 | ECONT7953 VEREANEE * 1 19 0 0 —
0982 | ECON5036 T A GRS z 1 21 12 4.69 —
0981 | ECON2005 01 [s3-gegy - * 1 82 70 4.55 i
0981 | ECONT7085 REEREAHEFHE- = 1 5 2 4.54 —
0981 | ECONT7961 RN RS P E e e z 1 11 0 0 —
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0972 | ECON4020 BB Bt % 1 20 14 4.18 —
0972 | ECON7015 PR SR - z 1 58 23 4.38 i
0971 | ECON2005 01 |stgegy - ki 1 90 82 4.41 i
0971 | ECONT7085 ' & pI2h s - i 1 9 2 5.00 i
0962 | ECON2006 01 [sA3rHegy - z 1 93 76 4.28 —
0962 | ECONT7015 RE SRS z 1 50 17 4.20 i
0961 | ECON2005 01 |#3-5eagy - f 1 92 82 4.14 —
0961 | ECON5036 FRAM LAY z 1 33 21 4.13 —
0952 | ECON2006 01 |#3-Hegy - % 1 97 72 4.11 —
0952 | ECON7015 R RIS - % 1 61 22 4.00 —
0951 | ECON2005 01 [ HFeqy - % 1 101 |89 3. 94 —
0951 | ECON7085 FE I 2 P - * 1 12 2 3.89 —
0942 | ECON2006 02 |35 egy - % 1 92 70 4.37 i
0941 | ECON2005 02 |stgegy - ki 1 130 113 |4.28 i
0932 | ECON2006 02 |srgeg = ki 1 64 54 4. 66 i
0932 | ECON8909 EHEm-SASE - z 1 10 3 4.26 —
0931 | ECON2005 02 |s-gegy - * 1 30 25 4. 65 -
0931 | ECON8907 L Hm-EASE - % 1 5 0 0 —




